FAE | #TH iR 5 IR O ZHE NO1 NAME
N rer [[w RikEAA 1 -0 4
Aa—2RA Ba—X Ca—XA Da—XA
O© @+2)x+1) O @+3)x+5) O (2a+4)2a+3) O (2a+3)(2a+5)
= x2+@Q+1Dx+2Xx1 = x*+(@+5)x+3%X5 =4+ (4+3)X2a+4X3 =4 +(B+5)X2a+3X%X5
= x*+3x+2 = x?*+8x+15 = 4a2 +14a+12 =4a*>+16a+15
@ (a+6)at+2) @ @+He+1 @ Bx+1)(3x+5) ® (8a+1)(3a+2)
= @+ 6+2at+t6x2 =y +U@+Dy +4X7T =92+ (1+5)X3x+1X5 =942+ (1+2)X3¢+1X2
= a®+8a+12 = y*+11y+28 = 9x*+18x+5 =9a*+9a+2
@ (+5)x—3) @ +3)x—4) @ (2x+1)(2x—4) @ (2x+T7)(2x—3)
= +6-3x+5X—3 = 22+@—Dr+3x—4 =P +Q—DX2+1X —4=4+(T—3)X2x +7X —3
= x2+2x—15 = x?—x—12 = dx?—6x—4 =A4x*+8xr =21
@ (a—8)(a+2) @ (a+1)(a—9) @ (4a—3)(4a+5) @ (4x—5)(4x+2)
= a*+(=8+2a—8X2 =g+(1-9Pa+1x—-9 =162 +(—3+5)xX4q =162+ (—5+2)X4x—5X2
—3X5
= ¢’—6a—16 = a*—8a—9 =16aq +8aq —15 =16x*—12x—10
® (x—2)(x—3) ® (x—4)(x—1) ® (3a—4)(3a—2) ® (6x—5)6x—1)
= 2+ (—2-3)x—2X—3 = 22+(—4—1) x—4X—1 =92 +(—4—2)X3qa = 3642 +(—5—1)X6x
—4X—2 —5X—1
= x’—Hx+6 = x?’—hHx+t4 =942 —18a+38 = 36x>— 36x +5
® (a—1)a—T7) ©® (a—6)a—3) © (5x—3)(5x—6) ® (5n—3)(bn—6)
=a’+(—1-Ta—1X—7 = a®>+(—6—3)a—6X—3 =25x> +(—3—6)X5x = 251 +(—3—6)X5n
—3X—6 —3X—6
=a’—8a+17 = ¢*—9a1+18 = 25x2—45x+18 = 25n*—45n+18




